
Modeling Water, 
One Loop at a Time
D y n a m i t a ’ s
S U p e r  M O d e l  c r o c h e t



 R1 – 6 st in magic loop 
 R2 – (2 sc, 1 inc) x3
 R3 – R4 – 8 sc (finish row 5 with a slip stitch)

Arms (x2) – With blue yarn

Legs (x2) – With blue yarn
 R1 – 6 st in magic loop
 R2 – (1 sc, 1 inc) x3
 R3 – R5 – 9 sc (finish row 5 with a slip stitch, except for the second leg) 

On the second leg, do not cut the string, continue with the body

Body – With blue yarn
 R6 (join the 2 legs) – 4 sc on the first leg, 5 ch, 

 9 sc on the second leg, 5 sc on the ch, 5 sc [28 st]
 R7 – R8 – 28 sc
 R9 – 2 dec, 6 sc white, 4 dec blue, 6 sc white, 2 dec blue [20 st]
 R10 – 20 sc white
 R11 – R14 – 20 sc blue 
 Stuff the legs
 R15 (join the 2 arms) – 8 sc on the first arm, 3 blue sc, 4 white sc, 

 3 blue sc, 8 sc on the second arm, 3 blue sc, 4 white sc, 
 3 blue sc [36]

 R16 – 11 blue sc, 5 white sc, 14 blue sc, 5 white sc, 3 blue sc [36]
 R17 – 3 blue sc ,4 st tog x2 with blue, 6 white sc, 4 st tog x3, 6 white sc, 

 4 st tog blue [18]
 R18 – 18 sc white
 R19 – 18 sc blue
 R20 – 18 sc blue
 R21 – (1 sc, 1 dec) x6 [12]
 Stuff the arms (lightly) and the body 
 R22 – 6 dim [6]
 Fasten off and leave a long tail to sew around the white part of the 

head and give the shape.

R: row
Sc: Single crochet 
Ch: Chain
Dec: Decrease (2 stitches together by the front loop for invisible 

decrease) 
Sts: Stitches
Tog: together (stitches together by the front loop for invisible 

decrease) 
(...) x: Repeat stitches within parentheses ... times
[ ]: number between squared crochet gives the total number 

of stitches of the row

ABBREVIATIONS (US)

To start the white, the sc before the white stitch: yarn over and 
pull with blue, then yarn over and pull with white. 
For the last white stitch, just finish it completely with white and 
start the next stitch in blue (this ensures symmetric white on 
right and left side). 

Color change from blue to white 
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